X=
%=
SHAFE TEEEERETEASILETES
SH4F4H168 (4)
B+ LIS ST

I7517)ii8460%55% (AR60])
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1| 1| 5| BiF 3E |5FHEE 3 197.1 195.8 |99.9 [99.2 |94.5 [99.7 |586.2 |20 |hEASHIE
21 1| 6 |XKE L= (FFHERE 3 |93.2 |98.3 |96.8 [95.6 |98.5 |93.9 |576.3 |14 |FEASL IS

0.0

0.0

0.0

0.0

0.0

0.0
k)l

I7517)\ii8360F5E (AR60W])

IEMNSERSIRE K £ B 4| S1|S2|S3[S4|S5|S6]| 3 X e
1{1])9| @E B |FFHFEE 3 |97.1 |101.4 |100.4 [102.0 |103.1 [101.2 | 605.2 |28 |hEASLIE
21 1| 7 | EH %E [BFHZEE 3 |96.6 |94.8 |98.8 [98.9 |97.1 |98.9 |585.1 |16 |FEAELE
31| 8 |47 #A8 [BFHRFE 3 [95.2 98.7 |98.0 [98.4 |96.0 |98.4 [584.7 |19 |FEAZLIE
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NOE: Not officially entered FEZATXEH DNF: Did not finish &g
DNS: Did not start ZEi&
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1 (3] 3 [XkE L2 [FHFESK]| 3 [95.1 [100.7]98.5 |100.7 |103.9 [102.2 {601.1 hEASLIE
2|1 1| 4 | BbF BYE |1BFAFESHAK| 3 |99.1 |102.4 [103.8 [100.5 |97.1 |98.0 |600.9 hERSHIS
3|1 1] 5 |IWLUTF EZE|FFAFESH| 2 |93.6 [100.299.2 |101.1 |97.0 |101.7 [592.8 FEAZLE
4 | 3|5 [HBE #N |FHFESH| 3 |97.0 |93.9 |100.3 |96.6 |94.8 |100.7 | 583.3 hEXSTS
5|12 4| TH BXR|TFTEATRISERK| 2 |97.9 [1000[91.5[91.8 |101.0]98.9 | 581.1 ThEARH IS
6| 4| 4 |1ILE X |BFAZESHK| 3 |96.9 |97.5 |87.7 [89.5 |91.7 |92.9 | 556.2 hERSHIS
71 4|5 | XE %E|FHFESK| 3 [87.0 [93.6 [90.3 [79.1 |93.6 |96.4 |540.0
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112 2| @HE 2 |5YHZESK| 3 |1035|105.1 |104.3 |104.6 [103.0 [104.7 | 625.2 hEASH S
2| 4| 1 | &x WA |BFHFERSAK| 3 |104.4 [102.7 |103.3 |103.1 [103.3 |102.1 | 618.9 REASTIS
3131 |EH %2 |FFHFESH| 3 |101.9 |101.8 1016 [102.7 |102.5 |103.7 | 614.2 REASHIS
4 | 1| 2 | KA FFE At LFE/| 1 |10t.9 [101.8 |101.6 [102.6 |100.1 [102.0 | 610.0 hEASHS
51 1| 1 |fmA KX |IFFHEZEESR| 3 [98.0 [96.3 [98.9 |101.6 |104.2 [95.8 | 594.8 hEASHIS
6 | 4| 3 |Ex = |BFAFESK| 2 |94.9 [94.6 [98.9 [96.4 [95.7 [97.5 |578.0 hEASLIS
71 31 2 /M8l AT |FFHFESK| 3 [95.3 [92.4 [97.4 [99.0 |94.9 |95.5 |574.5
8| 2| 3 |XE E=x |FFHFEEEK| 3 |96.1 [88.4 [92.9 |99.6 |99.4 |88.5 | 564.9
9 21| 1|k Bx|FFHFEEAKR| 3 |76.9 |86.4 |83.6 [86.0 | 83.6 |85.5 |502.0
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1|12 [A+E BR|BFEFESK| 2 [87 |79 182 |83 [88 |81 | 500 | 4 [1ExsHs
21| 1| /& B |BFHEFESK| 3 186 [79 |88 |81 [86 |79 | 499 | 6 |+HEASHS
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1] 2] 3] & OF [FHFESR] 3 191 |92 [80 |87 |83 [86 | 519 | 6 [+EX:&ts
21 2| 2| BBy B |BHFESKR| 3 186 |87 |87 [85 [89 |81 | 515 | 4 |[vEXALS
3| 1| 3 [#TH &X|¥HEFESK]| 2 |84 [81 |88 |80 [89 |85 | 507 | 3 |[+tEA=HE
4 11| 4| #F FXF |FHFESRK| 2 |74 |80 [87 |82 |74 |80 | 477 | 6 |tEX&tS
512 4| O FiR |FEFESK| 2 |77 |84 |76 |75 [87 |76 | 475 | 1 |+EX&HE
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